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3. List three facts you learnt in the lesson

about population and .density:
1. Guess the keyw.ords: and 1.
Dzﬂqiﬁgﬂ_tﬂm,pzoplzw}wljﬂzm,a 2
Definition 2: Many people live in the area. 3.

b, O{Lﬂwpﬂm}m: How are the po lon

2. Check and. fix the mistakes densities in London and Edinburgh different?

The world population is 6 hillion. @ @

China has a low population density.

The most densely populated city in the U.K.




Arecas with .a hi Arcas with .a Low

population ' population density




Complete the rest of the table to .define the vo.cabulary

Definit

The people who live in a particular ploce.

Life encpectancy

The number .of hirths per 1000 people per year.

Death r.ate

When there .are more hirths than deaths so the population grows.

Natwr.al decrease




Reach the top!

Answer all .of ,U;im
questions from

Layer to xzﬁch the top!
Write your green .and
O, ANSWLRrA O
the and the
yellow and red

QIEWRIA AN Apour ho.oR.

Why .are hirth rates in the
UK relatively low .now?

Whuy .are death rates in the
UK relatively low nromw?

1

The Lons
MIW;%UM ug:i
AJOAL AJOIS
way to the top, so
lets see how many

| 4ou can answer !

Roughly how many
people live on Earth now?

Has the worlds population
QromW. or /s}uu,;ptf in the
last 200 years?

How Adid the Lndustrial

Renv.olution increase the

population in cities?




More elderly people -

More young people -
A lower hirth rate -

A higher hirth rate -



Excplain the effects of medical care improvements .on the
mmn—w}mg,észwommwmma?

Task: Fill in each .0of the layers .of the
Lta,r,g,e,t,LrL,o,r,d.e,r,to,ne,a,ch,the):),u,Ll/s)e,«?;z.’

Provide two reasons for the

reduction in hirth rates: \

S

Drow and hbriefly explain what a rapi
\Te/zp,a.nding population pyramid w.ould %:

What type .of population is heing described helomw?

A population where there are .an increasing ,n,u,mJazr of

%Lg people compared with people of working .oge or
i _




. o Task: Ln the first hox, write .down everything you can
R.WM & mez remember ,ab,o{ft our last lesson. Ln the /szcon,d:yﬁo/x, Write
dow.n enverything iyou can remember .about our previous lessons.
In the last hox, write down everything you can rememhber
about o previous topic! Use the questions to support you.

’ Last lesson (What causes population to grow? What causes population to decline? Whathihze#ecbs,ojﬂu&?.



Think .and Link Grid
| Key words: population growth, increase, slums, hygiene, traffic, pollution, .global w.arming

. Excplain the effects o pulation increases.
Po (K n IImlz%zse/s. How .aue these dmrwéf%m r people’s living
eniya, conditions .and climate?




C,O,Pjs, & Rﬂ,b,bzrﬁ, Task [: In the COPS hox, answer the question from iour
Lask 2: Now, look at your partners sheet .and .add any extra

information syou can to the ROBBERS hou.

Some of Britains most populated cities .are:

One example of a densely populated .country is:




You need to retrieve the key w.ords correctly to earn the chance to place a O or X -

O

Noughts and Crosses

The first person to connect three symhbols wins the game!

N.ame a country that
has o relatively

ageing population.

[s Europe sparsely or
densely populated?

How has the

Coronavirus

an ageing po Lon?

Which .continent is Why have several How does a
Japan in? countries heen shortage of taxes
encouraging .migrotion? | load to poor health?
Describe a ol What is migration? Which continent has

Lon.

an ageing po

wery fow elderly peaple?




Retriev.al Lrderleaved Practice Grid!

N.ame .a UK A that

has a _
population density.
When could .a suwrw Why is Japans
be ased? i P;ilﬂ]ﬁﬂﬂ ageing?

What .are the reasons :
What is .meant hy
Low death rate :
sy v S primary data?

What is .a bhiome?

last M.onth l.ast Lopi
(3 Paoints) (4 Pﬂiﬂﬁc




Link to our topic (Population)

2%
1.8%
1.6%

\/\ Annual growth rate of
the world population

_dl World populatior

ooooooo

ﬂﬂﬂﬂﬂﬂﬂ

world population, excpanding, overcrowding, climate change, living conditions

ageing, hirth rote, working, toxes, healthcare .and housing services

food supply, Lrrigation, water supply, crops, solution




§ Retrieval Relay R.ace
b,'

In the first hosx, wirite as much as you can remember about our topic. In the second bhox, one of your -
peers must write what can recall about our topic but they cannot repeat arny of the information from /
sour furst hox! The third bhox needs to be co by someone else hut .again this include .new
information .and the same for the final hos.
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Explain...

the challenges .of .an .ageing
population.

Describe ...
how }.o,o,d'. is transporited

a way in which the

pulation level of a
PL?WAJ could he iontnoﬂzd.

Explain...

live in uwrhan .areas.

Describe...

what is

how a Lon
does it show?)

Describe...

. The standard of
sanitation and hygiene in
many crowded slums.

Explain...
" how a growing

pulation can harm
ﬁrﬂvixomwut. :

Describe...

how a Lon
population is growing.

Name...

the period of time mwhen
London's population
grew due to more johs.

& BlessonTookor product by Pete Sanderson



